Losungen Differenzialrechnung |

a) f'(x) =18x% 6 b)f'(x) = 4x — = ¢)F'(x) =

3
x? Jx

d)f'(x)=2cos(x)-3  e)f'(x)=8x>-9x*+4x  f)f'(x)=x-cos(x)+sin(x)

g)f'(x)=(x2+2x)-*  h)f'(x)=ln(x)+1 1) (x) = —2
(x +1)
_—x? +4x ()= ] X:(X—1)e
DT - -t
m) f'(x) = 4x> + 4x n)f'(x)= Z}(% 0) f'(x)=3-cos(3x)
o 2x . _3x-cos(3x2) ) — (o 1)
e R = e
2.
ajm=8

b)o, 76,05 o, ~82,9°; o, ~82,9°; q, ~14,0°
c)t(x)=—x+2; n(x)=x+4

or[F5 ol

8 14
3V3

517 |5 5( 7 /5

e — === 1; Z-=.]=

)Q’[ 3 3\@ QZL\E 3 3}
1 1
3 a1:2;a2:—z
T 5n

4 51[— zj; sz(— zj; o~ 79,1°
6 6




